
Página: 1

REFERENCE DESCRIPTION UNIT PRICE Qty TOTAL PRICE
FIAR4-VTE-0003 KIT VISSERIE 189,90 € 1 189,90 € 
0280B0272203 REGULATEUR PRESSION ESSENCE BOSCH 5 BAR 196,67 € 1 196,67 € 
04642474AB POMPE HP 525,30 € 1 525,30 € 
0805PA FILTRE ESSENCE POMPE BASSE PRESSION 2013 34,94 € 2 69,88 € 
305331P ADAPT MM 3/8UNF 10X100 ACIER CVX 2,08 € 1 2,08 € 
306331C ADAPT MM 3/8UNF 10X100 INOX 5,00 € 4 20,00 € 
306655D ADAPT MM 9/16UNF 14X150 CONCAV ALU 5,00 € 4 20,00 € 
4250001012304002 CENTERING SLEEVE FOR MODULAR SYSTEM 12-18-12 3,60 € 8 28,80 € 
545PFF50301 SILENT BLOC PEUG 306 AV N°1 (2) 18,33 € 2 36,66 € 
LHA16HEIM ROTULE SANS LINER 43,00 € 4 172,00 € 
AN316-10 NUT 5/8p-18UNF Rt 5,34 € 2 10,68 € 
AN316-10L NUT5/8 UNF Lt 3,10 € 4 12,40 € 
AN81406SD BOUCHON M 9/16 DH6 ALU TETE CHC 4,17 € 1 4,17 € 
ART10ECR ROTULE 5/8" X 5/8UNF DROITE 105,00 € 2 210,00 € 
ART12ECR ROTULE MALE 3/4" OEIL 3/4 131,00 € 8 1 048,00 € 
ARTL10ECR ROTULE 5/8" X 5/8UNF GAUCHE 118,00 € 4 472,00 € 
BIBLI-BI-0128 FILTRE HP 26,66 € 1 26,66 € 
BIBLI-BI-0184 JOINT CIRCULAIRE CUIVRE TYPE A -6 0,50 € 4 2,00 € 
BIBLI-BI-0230 JOINT CIRCULAIRE CUIVRE TYPE A - 12-20-1 0,50 € 3 1,50 € 
BIBLI-BI-0298 CIRCLIP INT 0,63 € 1 0,63 € 
BIBLI-BI-0503 JOINT CIRCULAIRE CUIVRE TYPE A -14-18-1 0,47 € 2 0,94 € 
BIBLI-BI-0521 JOINT CIRCULAIRE CUIVRE TYPE A -16 0,50 € 2 1,00 € 
BIBLI-BI-1036 JOINT CIRCULAIRE ALU TYPE A -10 0,20 € 2 0,40 € 
BIBLI-BI-1094 JOINT CIRCULAIRE CUIVRE TYPE A -18 0,53 € 1 0,53 € 
BIBLI-BI-1272 CLAPET SOBEK 130MB 154,50 € 1 154,50 € 
BIBLI-BI-1357 JOINT TORIQUE NBR 70 SH OR18-2 CAPTEUR V-ROUE 1,07 € 1 1,07 € 
BIBLI-BI-2182 JOINT CIRCULAIRE ALU TYPE A-14 1,13 € 4 4,52 € 
BIBLI-BI-3126 CIRCLIPS INTER JV45 2,97 € 4 11,88 € 
BIBLI-BI-3330 SPT12 MALE THREATED PLUG 0,75 GAZ SPT12.N1012916A-L-JKV 199,85 € 2 399,70 € 
BIBLI-BI-3331 NUT 0,75 GAZ 9,00 € 1 9,00 € 
BIBLI-BI-3348 O-RING 18x2.5 VITON 3,00 € 2 6,00 € 
830DA45249 ECROU DE ROUE 14X150 ACIER CH19 CONE 60° 1,50 € 20 30,00 € 
BIBLI-BI-3389 MOYEU DE ROUE 140,00 € 4 560,00 € 
BIBLI-BI-3391 KIT ROULEMENT DE ROUE 115,00 € 4 460,00 € 
BIBLI-BI-3394 LOW NUT M16x150 2,00 € 2 4,00 € 
BIBLI-BI-3409 JOINT CIRCULAIRE ALU TYPE A -8 2,00 € 2 4,00 € 
BIBLI-BI-3432 SILENT BLOC 29,05 € 2 58,10 € 
BIBLI-BI-3518 O-RING 9.5x1.6 2,00 € 1 2,00 € 
BIBLI-BI-3519 O-RING 8.5x1.5 2,00 € 1 2,00 € 
CP684014S4COR RH Caliper 800,00 € 2 1 600,00 € 
CP684015S4COR LH Caliper 800,00 € 2 1 600,00 € 
CP7972CH81FF MECA EMB BI 184 GRIS FIAT PUNTO S2000 VOLANT PLAT 575,00 € 1 575,00 € 
 CP8405A036H CLUTCH DISC 175,00 € 2 350,00 € 
CU10.2X14X2 JOINT CUIVRE 10.2*14*2 1,38 € 5 6,90 € 
FA-AE-003 CLIP OETIKER 9.6-11.3 ST-STEEL 011.3-505R 2,08 € 4 8,32 € 
FIAR4-VTE-0005 BOITE DE VITESSE R4 24 347,00 € 1 24 347,00 € 
FIAR4-BV-0029 ASSY COMP GEARBOX COVER 92,40 € 1 92,40 € 
FIAR4-BV-0104 ENGINE SLIDING SOCKET 20,10 € 3 60,30 € 
FIAR4-BV-0106 GEARBOX BOLT 13,10 € 3 39,30 € 
FIAR4-BV-0152 ANTI TORQUE SILENT BLOC SPACER 10,30 € 1 10,30 € 
FIAR4-BV-0031 ASSY STARTER MOTOR BRISE 914 series 500,00 € 1 500,00 € 
FIAR4-CH-0009 ASSY MECANO FRONT SUBFRAME 2 800,00 € 1 2 800,00 € 
FIAR4-CH-0010 ASSY MECANO REAR SUBFRAME 2 500,00 € 1 2 500,00 € 
FIAR4-CH-0152 SUBFRAME INSERT 13,30 € 8 106,40 € 
FIAR4-CH-0154 SHOCK ABSORBER TURRET 350,00 € 4 1 400,00 € 

FIA R4 KIT PRICE LIST



Página: 2

REFERENCE DESCRIPTION UNIT PRICE Qty TOTAL PRICE

FIA R4 KIT PRICE LIST

FIAR4-CH-0157 PROPSHAFT CENTER BEARING INSERT 120,20 € 2 240,40 € 
FIAR4-CH-0180 ENGINE FIXING SOCKET 47,40 € 2 94,80 € 
FIAR4-CH-0181 ENGINE SOCKET 51,20 € 2 102,40 € 
FIAR4-DI-0001 ASSY STEERING RACK 3 000,00 € 1 3 000,00 € 
FIAR4-DI-0013 ASSY COMP STEERING PIPE HP HOSE 103,30 € 1 103,30 € 
FIAR4-DI-0014 ASSY COMP STEERING RACK LP HOSE 134,20 € 1 134,20 € 
FIAR4-DI-0024 ASSY TUYAU 98,00 € 1 98,00 € 
FIAR4-DI-0131 STEERING PUMP PULLEY 85,30 € 1 85,30 € 
FIAR4-DI-0135 STEERING VALVE CLAMP PLATE 6,20 € 1 6,20 € 
FIAR4-DI-0155 STEERING PUMP HP FITTING 47,00 € 1 47,00 € 
FIAR4-DI-0156 VIS CHC M8x1.25 - 16 MACHINED HEAD 11,70 € 1 11,70 € 
FIAR4-DI-0167 CANON DE PERÇAGE 16,50 € 2 33,00 € 
FIAR4-DI-0170 STEERING RACK BOOT SPM ORE0234 27,80 € 2 55,60 € 
FIAR4-EL-0000 ASSY LOOM INTERNAL FUEL TANK 358,00 € 1 358,00 € 
FIAR4-EL-0022 ASSY LIFT PUMP EXTENSION LOOM 19,50 € 1 19,50 € 
FIAR4-EL-0024 ASSY COMP GEARBOX TEMP SENSOR 85,10 € 2 170,20 € 
LMP2B-EL-0011 ASSY FRONT SPEED SENSOR 158,17 € 1 158,17 € 
FIAR4-ES-0008 ASSY LOW PRESSURE PIPE 25,90 € 1 25,90 € 
FIAR4-ES-0010 ASSY COMP FUEL TANK HOUSING 1 062,50 € 1 1 062,50 € 
FIAR4-ES-0012 ASSY MECANO FUEL CATCH TANK 362,00 € 1 362,00 € 
FIAR4-ES-0013 ASSY MECANO FILLING TUBE 25,30 € 1 25,30 € 
FIAR4-ES-0014 ASSY COMP FUEL TANK BLADDER 1 650,00 € 1 1 650,00 € 
FIAR4-ES-0015 ASSY FRONT LOW PRESSURE PUMP PIPE 39,10 € 1 39,10 € 
FIAR4-ES-0019 ASSY COMP ENGINE BAY FUEL HOSE 93,40 € 1 93,40 € 
FIAR4-ES-0109 FUEL TANK UPPER PLATE 27,40 € 1 27,40 € 
FIAR4-ES-0111 FUEL TANK FINAL SHEET 9,70 € 1 9,70 € 
FIAR4-ES-0121 FUEL TANK THERMAL INSULATION 22,20 € 1 22,20 € 
FIAR4-ES-0128 HP FUEL PUMP INLET 34,10 € 1 34,10 € 
FIAR4-ES-0129 REGULATOR HOUSING 155,10 € 1 155,10 € 
FIAR4-ES-0130 REGULATOR HOUSING GASKET 18,40 € 1 18,40 € 
FIAR4-ES-0141 REDUCED ADAPTER M-M M12x1.50 M14x1.50 16,70 € 1 16,70 € 
FIAR4-FS-0017 ASSY MECANO UPRIGHT 1 000,00 € 4 4 000,00 € 
FIAR4-FS-0025 ASSY MECANO FRONT WISHBONE 580,00 € 2 1 160,00 € 
FIAR4-FS-0029 ASSY MECANO STEERING ROD 166,00 € 2 332,00 € 
FIAR4-FS-0104 AB SPACER 36,40 € 16 582,40 € 
FIAR4-FS-0105 SUSPENSION BOLT M12x1.25 11,15 € 10 111,50 € 
FIAR4-FS-0109 GRAVEL BRAKE CALIPER SPACER 25,30 € 8 202,40 € 
FIAR4-FS-0113 STRUT SPACER 12,30 € 4 49,20 € 
FIAR4-FS-0115 FRONT CAMBERBLOCK RH 222,75 € 2 445,50 € 
FIAR4-FS-0117 E BALL BEARING STOP SPACER 22,90 € 8 183,20 € 
FIAR4-FS-0139 PUSH ROD BOLT 9,70 € 4 38,80 € 
FIAR4-FS-0140 FRONT PUSHROD 194,00 € 2 388,00 € 
FIAR4-FS-0161 STEERING ROD CLEVIS 118,80 € 4 475,20 € 
FIAR4-FS-0162 FRONT CAMBERBLOCK LH 222,75 € 2 445,50 € 
FIAR4-FS-0209 STTEERING RACK METAL BALL JOINT 245,00 € 2 490,00 € 
FIAR4-FS-0177 CAMBER SHIM 2mm 8,50 € 4 34,00 € 
FIAR4-FS-0181 WHEEL STUD M14x1.5 24,75 € 20 495,00 € 
FIAR4-FS-0185 STEERING ROD SPACER 0 26,50 € 8 212,00 € 
FIAR4-FS-0200 STEERING ROD CLEVIS M10x1,5 BOLT 8,42 € 4 33,68 € 
FIAR4-MO-0109 ENGINE BRACKET 300,00 € 1 300,00 € 
FIAR4-MO-0179 CLUTCH BOLT 4,30 € 6 25,80 € 
FIAR4-MO-0204 ENGINE BRACKET DOWEL 3,95 € 2 7,90 € 
FIAR4-MO-0205 GEARBOX DOWEL 3,95 € 2 7,90 € 
FIAR4-RS-0018 ASSY MECANO REAR WISHBONE 580,00 € 2 1 160,00 € 
FIAR4-RS-0019 ASSY MECANO REAR PUSHROD 264,00 € 2 528,00 € 



Página: 3

REFERENCE DESCRIPTION UNIT PRICE Qty TOTAL PRICE

FIA R4 KIT PRICE LIST

FIAR4-RS-0020 ASSY MECANO TOE ROD 202,00 € 2 404,00 € 
FIAR4-RS-0104 l SPACER 8,75 € 4 35,00 € 
FIAR4-VTE-0015 DIFFERENTIEL ARRIERE R4 14 922,00 € 1 14 922,00 € 
FIAR4-VTE-0020 DRIVESHAFT MSP01 018 900,00 € 4 3 600,00 € 
KNUTM10 NUT SIMMONDS M10X1.5 2,42 € 4 9,68 € 
KNUTM12_1.25 NUT SIMMONDS M12X1.25 6,58 € 8 52,64 € 
KNUTM12_1.75 NUT SIMMONDS M12X1.75 6,58 € 3 19,74 € 
KNUTM8_1.25 NUT SIMMONDS M8X1.25 1,58 € 2 3,16 € 
KS00000155-000 STEERING PUMP 600,00 € 1 600,00 € 
LMP2A-ES-0133 VIS FIX CLAPET MISE A AIR 19,49 € 1 19,49 € 
LMP3A-ES-0132 VIS BANJO M12*150 LG38 70,62 € 1 70,62 € 
PU-AC-042 FUEL PUMP 204,61 € 2 409,22 € 
FIAR4-VTE-0011 ASSY COMPLETE ENGINE 21 865,06 € 1 21 865,06 € 
FIAR4-VTE-0012 ALTERNATOR 500,00 € 1 500,00 € 
CP3845100K10-ORECA KIT NUT CP2494-117x10 + WASHER CP2494-1305x20 + BOLT CP3845-100x10 20,00 € 1 20,00 € 
FIAR4-BV-0032 ASSY PROPSHAFT XS 1 550,00 € 1 1 550,00 € 
FIAR4-BV-0033 ASSY PROPSHAFT S 1 550,00 € 1 1 550,00 € 
FIAR4-BV-0034 ASSY PROPSHAFT M 1 550,00 € 1 1 550,00 € 
FIAR4-BV-0035 ASSY PROPSHAFT L 1 550,00 € 1 1 550,00 € 
1K9000Q SPACER TO BE DEFINED ACCORDING TO THE WHEELBASE 330,00 € 1 330,00 € 
FIAR4-FR-0118 GRAVEL DISC BELL 312,00 € 4 1 248,00 € 
FIAR4-FR-0119 DISC RETAINING RING 49,00 € 4 196,00 € 
CP3870133CG8-ORECA BRAKE DISC RH (Gravel) 298,00 € 2 596,00 € 
FIAR4-FS-0116 E GRAVEL PROTECTION 6,55 € 2 13,10 € 
FIAR4-FS-0114 E GRAVEL BRACKET 310,20 € 4 1 240,80 € 
CP3870132CG8-ORECA BRAKE DISC LH (Gravel) 298,00 € 2 596,00 € 
FIAR4-RS-0143 REAR E GRAVEL BRACKET PROTECTION RH 21,00 € 1 21,00 € 
FIAR4-RS-0146 REAR E GRAVEL BRACKET PROTECTION LH 21,00 € 1 21,00 € 
FIAR4-RS-0145 REAR RIM SCRAPER BACKPLATE 11,90 € 2 23,80 € 
FIAR4-RS-0144 REAR RIM SCRAPER 5,90 € 2 11,80 € 
KNUTM6 NUT SIMMONDS M6X1 1,25 € 8 10,00 € 
KNUTM5 NUT SIMMONDS M5X0,8 1,25 € 4 5,00 € 
FIAR4-RS-0142 REAR GAVEL PROTECTION LH 101,40 € 1 101,40 € 

*Note: Price list made for Gravel spec; tarmac spec additionalcomponentson the bottom part of the list

FIAR4-FR-0115 TARMAC DISC BELL 335,00 € 4 1 340,00 € 
FIAR4-FR-0120 DISC RETAINING RING TARMAC 49,00 € 4 196,00 € 
BIBLI-BI-3447 BRAKE DISC CP5772-584CG8:ORECA GROOVE PATTERN RH (Tarmac) 320,00 € 2 640,00 € 
FIAR4-FS-0201 E TARMAC PROTECTION 17,50 € 4 70,00 € 
FIAR4-FS-0128 E TARMAC INSERT 165,00 € 4 660,00 € 
FIAR4-FS-0019 ASSY MECANO E TARMAC BRACKET 427,00 € 4 1 708,00 € 
4250001012304002 CENTERING SLEEVE FOR MODULAR SYSTEM 12-18-12 3,60 € 16 57,60 € 
FIAR4-FS-0125 TARMAC SKID 75,00 € 4 300,00 € 
FIAR4-FS-0198 TARMAC CALIPER SPACER 118,00 € 4 472,00 € 
BIBLI-BI-3448 BRAKE DISC CP5772-585CG8:ORECA GROOVE PATTERN LH (Tarmac) 320,00 € 2 640,00 € 

Prices may change without notice. Consult FIA lists.



Página: 4

REFERENCE DESCRIPTION INT.REFERENCE PRICE
 1-STEERING COLUMN STEERING COLUMN FIAR4-VTE-1039 1 698,00 € 
2-CIRCUIT DA POWER STEERING TANK & HOSES FIAR4-VTE-1040 340,00 € 
3-DUAL COOLING DUAL COOLING FIAR4-SR-0010 1 477,00 € 
4-BOITE A EAU ENGINE COOLING WATER BOX FIAR4-VTE-1041 420,00 € 
5-ECHAPPEMENT GENERIC EXHAUST LINE FIAR4-VTE-1042 4 380,00 € 
6-BOITE A AIR MOTEUR ENGINE AIR BOX - ENGINE SIDE FIAR4-VTE-1037 870,00 € 
7-BOITE A AIR BOUCLIER ENGINE AIR BOX - BUMPER SIDE FIAR4-VTE-1036 675,00 € 
8-FLAP GUE AIRBOX UPGRADE FOR WATERSPLASH FIAR4-VTE-1043 305,00 € 
10-DURIT HUILE BV GEARBOX COOLING HOSES FIAR4-VTE-1066 918,00 € 
11-REAR DIFF COOL REAR DIFFERENTIAL COOLING SYSTEM FIAR4-VTE-1044 405,00 € 
12-PROTECT TH PROP PROPSHAFT CENTER BEARING THERMAL INSULATION FIAR4-VTE-1035 109,00 € 
13-FREIN A MAIN HANDBRAKE FIAR4-VTE-1034 1 885,00 € 
14-COMMANDE BV GEARBOX COMMAND LEVER FIAR4-VTE-1045 715,00 € 
15-SEAT MOUNTS SEAT MOUNTS FIAR4-VTE-1080 575,00 € 
FIAR4-FS-0033 OZ RACING 15 INCH GRAVEL RIM ALLOY FIAR4-FS-0033 125,00 € 
FIAR4-FS-0034 OZ RACING 18 INCH TARMAC RIM ALLOY FIAR4-FS-0034 156,00 € 
20-AMORTISSEUR TERRE GRAVEL DAMPER FRONT AND REAR FIAR4-VTE-1049 12 380,00 € 
21-AMORTISSEUR ASPH TARMAC DAMPER FRONT AND REAR FIAR4-VTE-1050 12 380,00 € 
22-ENGINE COOLING WATER RADIATOR AND INTERCOOLER HOUSING FIAR4-VTE-1051 2 236,00 € 
23-COCKPIT HEAT COCKPIT HEATER FIAR4-VTE-1052 198,00 € 
24-TUYAU REFROIDISS COOLING PIPES FIAR4-VTE-1060 1 853,00 € 
26-SKI ARR REAR UNDERPROTECTION KIT FIAR4-VTE-1033 468,00 € 
27-SKI AVANT FRONT UNDERPROTECTION KIT FIAR4-VTE-1054 102,00 € 
29-FREIN CIRCUIT BRAKE CIRCUIT FIAR4-VTE-1055 593,00 € 
30-PEDALIER BRAKE PEDAL BOX FIAR4-VTE-1056 2 180,00 € 
FIAR4-ES-0018 FUEL TANK PROTECTION SHEET FOR EMERGENCY WHEEL FIAR4-VTE-1057 145,00 € 
32-FRONT MEMBER FRONT MEMBER AND FRONT CROSS BRACKET FIAR4-VTE-1058 880,00 € 
34-TOP MOUNT TOP MOUNTS (x4) FIAR4-VTE-1059 595,00 € 
35-ANTIROULIS FRONT/REAR ANTI-ROLL BAR LINKS FIAR4-VTE-1032 1 580,00 € 
36-BRAKE LINES CLUTCH AND BRAKE HYDRAULIC HOSES FIAR4-VTE-1061 928,00 € 
37-STEER LINES POWERSTEERING TANK AND HOSES FIAR4-VTE-1062 238,00 € 
38-CAMBER SETUP CAMBER ADJUSTER FIAR4-VTE-1063 265,00 € 
39-TOE SETUP STEERING ROD SPACER FIAR4-VTE-1064 465,00 € 
40-COCKPIT FUEL LINES COCKPIT FUEL HOSES FIAR4-VTE-1068 242,00 € 
41-MASTER SWITCH BATTERY & MASTER SWITCHES FIAR4-VTE-1069 303,00 € 
42-PWR BOX SUPPORT POWER BOX SUPPORT UNIT FIAR4-VTE-1070 258,00 € 
43-ECU SUPPORT ECU SUPPORT UNIT FIAR4-VTE-1071 192,00 € 
44-DASH SUPPORT DASHBOARD SUPPORT UNIT FIAR4-VTE-1072 51,00 € 
45-CODRIVER FOOT CODRIVER FOOTREST FIAR4-VTE-1073 592,00 € 
46-WAT. SPLASH LEVER AIRBOX WATERSPLASH FLAP COMMAND FIAR4-VTE-1074 - € 
47-WAT BOX PIPE COOLING WATERBOX PIPES FIAR4-VTE-1075 133,00 € 
48-DRIVER FOOTREST DRIVER FOOTREST FIAR4-VTE-1076 - € 
49-PEDAL BOX TANKS BRAKE AND CLUTCH OIL TANKS FIAR4-VTE-1077 526,00 € 
50-SWITCH PANNEL SWITCH PANNEL CONSOLE FIAR4-VTE-1078 256,00 € 
51-DIFF COOL HOSES REAR DIFFERENTIAL COOLING HOSES FIAR4-VTE-1079 128,00 € 
FIAR4-EL-0002 CHASSIS LOOM FIAR4-EL-0002 3 750,00 € 

Prices may change without notice. Consult FIA lists.

FIA R4 OPTIONAL PARTS PRICE LIST


